Anx B - Work Completion Report

		I HATING GCAT			1110		-
	Nature of work	Granite works		Dt. site bills	reg.		22.00_2025
	Work done from date			M-codex bill	J		EH 07 HOL
	Work done to date			WO issued?			
	Contractor bill no.			GST bill requ	iired?		
Unit/floor no	Details of work		Qty	Units	Rate ID	Rate	Amount
C-paasanger lift -2 grani	te cladding		224.00	sft	TF133+TF136	38	8,512
			36.00	sft	TF133+TF136	38	1,368
			40.00	sft	TF133+TF136	38	1,520
Granite chamfering			496.00	rft	Tf115	25	12,400
			8	no's	TF122	60	480
			16.00	sft	TF133+TF136	38	608
							0
						Total	24,888
							0
			To	otal amount i	ncluding taxes for	work done	24,888
Approved by project manager	Approved by QS team		+	Approved by I	Director/E&D team		
	Sign:		50	ign:			
10.17	Date:)ate:			
	C-paasanger lift -2 grani Granite chamfering	Nature of work Work done from date Work done to date Contractor bill no. Details of work C-paasanger lift -2 granite cladding Granite chamfering Granite chamfering Approved by QS team Sign: Date:	Nature of work Work done from date Work done from date Work done to date Contractor bill no. Details of work C-paasanger lift -2 granite cladding Granite chamfering Granite chamfering Approved by QS team Sign: Date:	Nature of work Granite works	Nature of work	Nature of work Granite works Dt. site Site Ott. Site Ott. Site Ott.	Nature of work Granite works Dr. 101, and the property Nork done from date Work done from date Work done to date Work done to date Wo issued? Wo issued?

[bill). 10. Contractors to send scanned copy of bill to site and QS by email. 11. Contractors must submit original bills at HO (can be sent by courier).

24,888	Total amount:						
	608.00	38.0	Sft	16.00	Platform Grnaite		
	480.00	60.0	Nos	8.00	Holes for lift button		
	12,400.00	25.0	Rft	496.00	Grnite chamfering		
	1,520.00	38.00	Sft	40.00			
	1,368.00	38.00	Sft	36.00			
	8,512.00	38:00	Sft	224.00	C-Passanger lift-II Granite cladding	C-Block	ь
Item Head Total	Amount	Rate	Units	Quantity	Item Description	Item Head	S No.
						22.09.2025	Date:
						Anil.M	Prepared By:
						Priyanka devi	Contractor:
						Work Description: Granite laying work	Work Description:
						GMR	Project:
		Approved by: Anil	Approve			MRMILLP	Company Name: MRMLLP
						ET	ESTIMATE SHEET

MEASUREMENT	T SHEET		T						
Company Name:	MRMLLP		1		Approved	by: Anil			
Project:	GMR								
Work Description:	Granite laying work								
Contractor:	Priyanka devi								
Prepared By:	Anil.M								
Date:	22.09.2025		T						
S No.	Item Head	Item Description	Length	Width	Height	No's	Quantity	Units	Item Head Total
			T						
1	C-Block	C-Passanger lift-II Granite cladding	7.0	4.00	1.00	8.00	224.00	Sfit	
			4.5	1.00	1.00	8.00	36.00	Sfit	
			2.5	2.00	1.00	8.00	40.00	Sfit	
		Grnite chamfering	62.0	1.0	1.0	8.0	496.00	Rft	
		Holes for lift button	1.0	1.0	1.0	8.0	8.00	Nos	
		Platform Grnaite	4.0	4.0	1.0	1.0	16.00	Sft	

Bill for Consumables

Priyanka devi Hyderabad

Date: 22-09-2025

In favor of:

MRMLLP

Project / Site:

GMR

Location:

mallapur

Type of Work:

Graniteworks

Towards:

Consumables

S No.	Description	Amount
1.	Brief description of work done: Granite works	
	Total amount = Rs. 24,888/-	Rs 4,978/-
	Work done from date 03-09-2025to 13-09-2025	130 1,57 07

Amount in Words: Four thousand nine hundred and seventy eight Rupees Only.

			Sign:

Bill for Labour Charges

Priyanka devi Hyderabad

Date: 22-09-2025

In favor of:

MRMLLP

Project / Site:

GMR

Location:

Mallapur

Type of Work:

Graniteworks

Towards:

Labour charges.

S No.	Description	Amount
1.	Brief description of work done: Granite works	
	Total amount = $Rs. 24,888/-$	Rs 9,955/-
	Work done from date 03-09-2025to 13-09-2025	

Amount in Words: Nine thousand nine hundred and fifty five Rupees Only.

		Sign:

Bill for Equipment Allowance

Priyanka devi Hyderabad

Date: 22-09-2025

In favor of:

MRMLLP

Project / Site:

GMR

Location:

Mallapur

Type of Work: Towards:

Granite works
Labour charges.

S No.	Description	Amount
1.	Brief description of work done: Granite works Total amount = Rs. 24,888/-	Rs 9,955/-
	Work done from date 03-09-2025to 13-09-2025	

Amount in Words: Nine thousand nine hundred and fifty five Rupees Only.

Sign:
Sign: